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10.

11.

12.

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define Cost Accounting.

SiLsslene sarsdlucd euangum.

What do you understand by profit centre?
Qeru epwwid upH B dleug wrg ?

What is cost sheet?

ILssedlone HEama eTaTnmed 6TeiTeT ?

State the meaning of Job Costing.

uefl oiLéseleamauiud eetuger QUTmHEET &nnis.

What is maximum stock level?

2 W5 emey Hlene ereimmmed eravren ?

What is perpectual inventory system?

Qgm_ir q-rfé;@ Ly WePD ETETDTE) T ?
What are notional expenses?

yeootiur QewellariiseT rammmed cTemeaL?
Expand EOQ.

EOQ srémugenn elfounésd ms.

What do you understand by Labour Turnover?
Qemfleoment s&Hf GHss BeiliT wiPleug wrg ?
What is Over time? |
Diflsfiiiy Corb erempmed eTermar?
Define Overheads.
Cuop&Csmaeyser euapwimy.

What is meant by Absorption of Overheads?

CupsQeaay B eramuge GLIMHET wrg) ?

Maximum : 75 marks
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13.

14.

15.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions

Discuss the objectives of cost accounting.
SIL&s e sansdwudar Crrsstsman elaurdsse.

‘Ascertain the cost and selling price from the following:

‘ Material consumed Rs.6,000

Wages paid Rs. 9,000

" Works on.cost 50% on wages

Office on cost 20% on work cost
Selling an cost 10% on office cost
Profit 20% on cost.

§Cp Qasr@ssiur@erer ofughseladmhs <L sselme LDJDQJLD
sdpuemer eNaneen &emrdd(H\s.

LweTLRSSIUL L apeli@ummar ep. 6,000

sell Gegisslwig . 9,000

Lefl L s56050a) mallufen 50% &b

sigieuws Gupsbswalsdr Lamfl a{L_‘é;a;;sglcb 20%
pueer Cupslene|sHr Qs 'éil;ésa;g';'é,]'@ 10%

. @erub SiLés eflereulds 20% <G ib.

Following data relates to materials X, find Reorder Level,
Minimum Level and Maximum Level.

Normal consumption 600 units per week
Minimum consumption 300 units per week
Maximum consumption 900 units per week
Re order quantify 4,800 units

Re order period 4 to 6 weeks.

X' arelip  @uimgpefcor @grrl_rmcm_m aupiisener Qameamr® H
Syeemt olere How, Gopps Sae| e wHpb & Slemey
flenawullener sem B y.és.

Queduiner H&Tey G UMTSSHE 600 DDGSHET
GODHS leTay fisTe) G wMESDE 300 i@ GseT

‘2 &8 IjeTa HISTe| @@ unysSlh@ 900 JEGsEr

D) AEHET DETE| 4,800 DH(GS6T
D) <D4EET ST 4—6 GUTTRIGET.
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24.

Cost of machine Rs. 13,500

Life: of the machine 10 years

Estimated scrap valﬁe Rs.1,980

Working hours 1,800

Insurance (per annum) Rs.45

Cotton waste (pér annum) Rs.75

Rent for department (per annum) Rs.975
Lighting for department (per annum) Rs. 360
Repair for entire Life Rs. 1,440

‘Foieman salary (per anﬁum) Rs. 7,500

Power 10 units @ 0.75 paise per unit

This machine occupies 20% of the area and the foreman devotes-

25% of his time to the machine. The machine -has 2 light points
out of the total 12 for lighting in the department Compute
Machine hour rate for the above data. '

@u_ubg‘,lu elene ¢m. 13,500

@U_I‘T_F;g_f;]lj uenflaren 10 a.l@l_m

Grﬁrrurrrra;a;um_l_ a;g@sq Y3 [W - 1, 980

Ceune wanflser 1,800 )

sTiSEH (<p@TOES) op. 45

LGE sfley Qewey (LeTOES) 5. 75

glPDEE uUMms (HaTHES) . 975

glps&E Wer Qgwa) (GarHEE) @. 360

sTeb pueugisGwrear Lwg bss Gsway . 1,440

* Gupurieelwrart sbLaTd (@ HES) 5. 7,500

adeng 10 i@, i@ eaméd 0.75 eusr.

geoplar  Qurss  uniueaelie  20%.  @bs - Qupdnd
eaudslLL Gerarg. Cupurimanrar gaig Gprsfle 26% Gprb
Qswey Qaudprr. 12 da  aanafiswsseileo 2 @bs
Qupdrsdpsneng|. ' e
CupQsrarer Qeufsefld®mbs Quipdroal Qewama sras.
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23.

B@ epeu@ummer ‘A’ wpmib ‘B’ ulldar Qeuglser WereumLom

_engmren 2 LG — geibarearnid 50 S aMrsSneE

GoPhHs Hanew 2 uGUITsD — geubleumemib 25 SiewE aurpsdbeE

<ifs Hlave 2 LGUTED — geaCeutarmbd 75 @ aumfsSbeE

O Spement SiaTe A 300 e @sar
B : 500 siv@ser

LMD SToh A 4 psed 6 eumyld
B : 2qpsed 4 eumpid {

SOy &8 :

(1) Lop pevent SfeTey

(@) G@pBS How ey

(@) =ifs Hlevew Semay

Calculate the earnings of a worker from the following

information given below under.
(a) Time wages system

(b) Piece wages system -

(¢) "Halsey premium plan

(d) Rowan premium plan

Hourly rate of wages Rs.1 per hour plus a dearness allowance of
Rs.0.50 per hour worked standard time 30 hours and Actual
time taken 20 hours. -

Geraum  eluyhsaiabbs) @0 Gsmforeluier eaflusms
SpsanL S hsealld sarsd(Hs.

(S1) sTOeD 2erHlwid

(<) G@r® eig oardluib

@) anmerGe penariod L ib

()  Grmeumesr (peneiod Sl b

QaTRi&sLlIUL L SHEUIMSET :

@@ wafldsE el @1 wHND sl Ug Ll EEamSES
0.50 euegr. S Cprd 30 weifl LHYID ahHSH Qamam_ Crybd
20 wenfl. '
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16.

17.

18.

19.

Calculate the Economic Order Quantity.

(a) Consumption during the year 600 units.

(b) Ordering cost Rs.12 per order

(¢) Earning cost 20%

(d) Price per units Rs.20.

SlGaam et aTamnel SanTsdlLaLb.

(=) yerh msie) 600 ew@s6r.

() 876 auansuiled oL ssellane eh. 12 @@ amanrss,
(@) TL® SLssD 20%

(F) @ Sedler JL&sb ep. 20.

Differentiate between time rate and piece rate wage system.

&M Sl &6l - @pep, CurmET  SglueL | oD
Hweipop CoaumliBsg!s. :

Calculate Labour Turnover ratio

Total employees beginning of the month_ 2010
Recruited employees during the month 30
Left employed during the month 50
Total employed at the end of month 1990
Qamfleorart &pHf lflgsms sarsdHs.

Qs Asmfleomer g p,rbLsHdD : 2010
GCsitey Geluwtiuc L Qg,rr%@a)rrmr:r 855 WwrssSl 30
sflodlw Ggmfleomert @bs WTEsSD 50
Qurgs Qsmfleomert g Gmidudd 1990

.From the following particulars compute the machine hour rate.
Cost of machine Rs. 11,000

Rs. 680

Repairs for the effective working life Rs. 1,500

Scrap value

Standing changes for 4 weekly periods Rs. 40
Effective working Life 10,000 hours
Power used 6 units per hour at 5 paise per unit.

4 hours worked in weekly period — 120 hours.
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20.

21.

Gereusd saaudsalaBhg rhdy wenll cissms samsdHs.
apdysder SiLésb . 11,000
er@pélul iy ep. 680
Eynen uenflsTe LgIUTTUL 5. 1,500
4 auy stasdhstar flaeowrar Gevelser . 40
uenll smeod 10,000 wenflser
Bemdper ¢ warEE 6 Sw@HET, SwQaTanbbE 5 amusr aigib.
4 aunyd Qarar sregdler LenGHyb — 120 et G,

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Discuss the steps involved in installation of cost accounting.

9L &&leme SansEene SIMDEGLD Qur s o _airer
L flevevseerts Lpdl eleurglésaLb.

From the following information, prepare cost sheet.
Rs.

‘Direct raw materials  1,00,000

Direct wages' 25,000
Direct expenses 5,000
" Electric power 3,000

Lighting :

Factory 1,500

Office 500
Rent : .

Factory 5,000

Office - 2,500 -
Salaries to salesman 1,250
Advertising . 1,250
Income tax 10,000
Sales : 1,89,500
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22.

emeu(mLd afuprseaflasimha 2L sselene 2IPsemnsenw
swnflgseyuw.
@.
Gy eporiGlumBL s 1,00,000
Corg. gl 25,000
Cririg: QFeser 5,000
Wit 54 3,000
cleTée :
QAzmfpsraess 1,500
SIYUNSEIDE 500
UTL NS |
Aemipsraass 5,000
QaIsHHS 2,500
puenanumen(hé@ cupraflu FbLard 1,250
eSleTb LD 1,250
auLoTen euifl. 10,000
eflpHLiener 1,89,500

Two components ‘A’ and ‘B’ are used as follows:

Normal usage — 50 units per week each

Minimum usage — 25 units per week each

Maximum usage — 75 units per week each

Reorder quantity A : 300 units

‘B : 500 units '

Reorder period A : .4 to6 weeks
B : 2to4weeks

Calculate for each components :

(a) Reorder Level
(b). Minimum Level

(¢) Maximum Level. |
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